Asymptotic Equivalence of Abstract Impulsive Differential Equations

D. D. Bainov, S. I. Kostadinov, and A. D. Myshkis³

Received January 27, 1993

The notion of (h, k)-dichotomy is introduced, which is a generalization of the classical exponential dichotomy. By means of the Schauder-Tychonoff theorem an asymptotic equivalence is proved between a linear impulsive differential equation which is (h, k)-dichotomous and the corresponding perturbed nonlinear equation.

1. INTRODUCTION

The beginning of the development of the theory of abstract impulsive differential equations was marked by the publication of a cycle of papers in the period 1987-1991 (Bainov et al., 1988a-c, 1989a-c, 1990a,b, 1991; Zabreiko et al., 1988).

In the present paper the asymptotic equivalence between a linear impulsive differential equation and its corresponding nonlinear perturbed equation is investigated. This work was influenced by the ideas of Naulin and Pinto (n.d.).

2. STATEMENT OF THE PROBLEM

Let X be an arbitrary Banach space with identity operator I. Denote by L(X) the space of all linear bounded operators acting in X. Consider the impulsive differential equations

$$\frac{dy}{dt} = A(t)y + F(t, y) \qquad (t \neq t_n)$$
 (1)

$$y(t_n^+) = (Q_n + R_n)y(t_n)$$
 $(n = 1, 2, 3, ...)$ (2)

Department of Mathematics, South-Western University, Blagoevgrad, Bulgaria.

²Department of Mathematics, Plovdiv University "Paissii Hilendarski," Plovdiv, Bulgaria. ³Department of Mathematics, Moscow Institute of Railway Engineering, Moscow, Russia.

and

$$\frac{dx}{dt} = A(t)x \qquad (t \neq t_n) \tag{3}$$

$$x(t_n^+) = Q_n x(t_n) \tag{4}$$

where $t \in \mathbb{R}_+ = [0, \infty)$ and x(t), $y(t) \in X$ ($t \in \mathbb{R}_+$). The solutions x, y at $t = t_n$ are assumed to be continuous from the left.

We shall say that conditions (H) are satisfied if the following conditions hold:

H1. The sequence of points of impulse effect $T = \{t_1, t_2, \ldots\} \subset (0, \infty)$ satisfies the conditions

$$t_n < t_{n+1}, \qquad \lim_{n \to \infty} t_n = \infty$$

- H2. The operator-valued function A: $R_+ \setminus \{t_n\} \to L(X)$ is continuously extendable from (t_n, t_{n+1}) to $[t_n, t_{n+1}]$ $(n = 0, 1, ...; t_0 \ge 0)$.
- H3. The function $F: (\mathbb{R}_+ \setminus \{t_n\}) \times X \to X$ is continuously extendable from $(t_n, t_{n+1}) \times X$ to $[t_n, t_{n+1}] \times X$ (n = 0, 1, ...).
 - H4. $Q_n \in L(X)$ and there exist $Q_n^{-1} \in L(X)$.
 - H5. $R_n: X \to X$ are continuous operators.

Let conditions (H) hold. By U(t) ($0 \le t < \infty$) denote the evolutionary operator of the linear equation (3), (4) (e.g., Zabreiko *et al.*, 1988; Bainov *et al.*, 1989a,c), i.e., the function $t \mapsto U(t)x_0$ is a solution of equation (3), (4) with initial condition $x(0) = x_0$ ($\forall x_0 \in X$).

Definition 1. Let $h, k: \mathbb{R}_+ \to (0, \infty)$ be two functions such that h^{-1} and k^{-1} are continuously extendable from (t_n, t_{n+1}) to $[t_n, t_{n+1}]$ and let P be a projector acting in X. The linear impulsive equation (3), (4) is said to be (h, k)-dichotomous if there exists a constant K > 0 such that

$$||U(t)PU^{-1}(s)|| \le Kh(t)h^{-1}(s), \quad 0 \le s \le t$$
 (5)

$$||U(t)(I-P)U^{-1}(s)|| \le Kh^{-1}(t)k(s), \quad 0 \le t \le s$$
 (6)

 $h^{-1} = 1/h$ and $k^{-1} = 1/k$.

Remark 1. We note that for $h(\tau) = k(\tau) = e^{-\delta \tau}$ we obtain the exponential dichotomy of the impulsive equation (3), (4) (e.g., Bainov *et al.*, 1989c, 1991). If the functions $h(\tau)$ and $k(\tau)$ are differentiable, we obtain the (μ_1, μ_2) -dichotomy from Muldowney (1984).

Let $0 \le t_0$. By $C(t_0)$ denote the set of all functions $f: [t_0, \infty) \to X$ which are continuous for $t \in [t_0, \infty) \setminus \{t_n\}$, have discontinuities of the first kind at

 $t=t_n \ge t_0$, and are continuous from the left. With respect to the family of seminorms $(t_0 < \Delta < \infty)$

$$P_{\Delta}(f) = \sup_{t_0 \le t \le \Delta} ||f(t)||$$

the set $C(t_0)$ is a locally convex, metrizable space.

3. MAIN RESULTS

By B_r we shall denote the closed ball in X of center O and radius r. Set

$$D_r = \{x(\cdot) \in C(t_0): h^{-1}(t)x(t) \in B_r(t \ge t_0)\}$$
 (7)

Let $x \in C(t_0)$. Consider the operator

$$(Qy)(t) = x(t) + \int_{t_0}^{\infty} G(t, s) F(s, y(s)) ds + \sum_{j: t_0 \le t_j} G(t, t_j) H_j(y(t_j)) \qquad (t \ge t_0)$$
(8)

where

$$G(t, s) = \begin{cases} U(t)PU^{-1}(s), & 0 \le s \le t \\ -U(t)(I - P)U^{-1}(s), & 0 \le t < s \end{cases}$$
(9)

is the Green's operator-valued function for the linear equation (3), (4) (Bainov et al., 1989a, 1991) and $H_j = Q_j^{-1}R_j$.

Lemma 1. Let the following conditions hold:

- 1. Conditions (H) are met.
- 2. The linear equation (3), (4) is (h, k)-dichotomous.
- 3. There exist constants C, $C_1 \ge 1$ for which the following inequalities are valid: $h(t)k(t)h^{-1}(s)k^{-1}(s) \le C$, $h(t)k(t) \le C_1$ $(0 \le s \le t < \infty)$.
 - 4. $||F(t, y)|| \le r(t, y)||y||, t \ge 0, y \in X$, where

$$\int_{t_0}^{\infty} \sup_{\|x\| \le \rho} r(t, h(t)x) dt \le m(\rho, t_0) < \infty$$

- 5. $||H_j(x)|| \le m_i ||x|| \ (j = 1, 2, ...)$, where $\sum_{j=1}^{\infty} m_j \le M$.
- 6. For some σ and ρ the inequality $\sigma + K\rho Cm(\rho, t_0) + K\rho CM \leq \rho$ is valid.
- 7. The sets $F([t_0, \infty) \times B_{\rho})$ and $\bigcup_{j=1}^{\infty} H_j(B_{\rho})$ are relatively compact in X. Then for each $x \in D_{\sigma}$ the operator Q has a fixed point in D_{ρ} .

Proof. In order to prove Lemma 1, we shall show that:

- (i) $Q: D_{\rho} \to D_{\rho}$.
- (ii) Q is a continuous operator.
- (iii) QD_{ρ} is a relatively compact set.
- (i) Let $y(\cdot) \in D_{\rho}$ be an arbitrary element. Then for

$$h^{-1}(t)(Qy)(t)$$

$$= h^{-1}(t)x(t) + \int_{t_0}^{\infty} h^{-1}(t)G(t, s)F(s, y(s)) ds$$

$$+ \sum_{j: t_0 \le t_j} h^{-1}(t)G(t, t_j)H_j(y(t_j))$$
(10)

from relations (9), (5), (6) we deduce the estimate

$$\|h^{-1}(t)(Qy)(t)\|$$

$$\leq \|h^{-1}(t)x(t)\| + K \int_{t_0}^{t} h^{-1}(t)h(t)h^{-1}(s)h(s)r(s, y(s))h^{-1}(s)\|y(s)\| ds$$

$$+ K \int_{t}^{\infty} h^{-1}(t)k^{-1}(t)k(s)h(s)r(s, y(s))h^{-1}(s)\|y(s)\| ds$$

$$+ K \sum_{j: \ t_j \leq t} h^{-1}(t)h(t)h^{-1}(t_j)h(t_j)h^{-1}(t_j)m_j\|y(t_j)\|$$

$$+ K \sum_{j: \ t_j \leq t} h^{-1}(t)k^{-1}(t)k(t_j)h(t_j)h^{-1}(t_j)m_j\|y(t_j)\|$$
(11)

and, consequently,

$$\|h^{-1}(t)(Qy)(t)\|$$

$$\leq \sigma + K\rho \int_{t_0}^t r(s, y(s)) ds + K\rho C \int_t^\infty r(s, y(s)) ds$$

$$+ K\rho \sum_{ij \leq t} m_j + K\rho C \sum_{i \leq t_j} m_j$$

$$\leq \sigma + K\rho C \int_{t_0}^\infty r(s, y(s)) ds + K\rho C \sum_{j=1}^\infty m_j$$

$$\leq \sigma + K\rho C m(\rho, t_0) + K\rho C M$$

Assertion (i) follows from condition 6 of Lemma 1.

(ii) Let $\{y_n\} \subset D_p$ be an arbitrary sequence tending to $y_0 \in D_p$, i.e., for each $l > t_0$ we have

$$\lim_{n \to \infty} \sup_{t \in [t_0, t]} ||y_n(t) - y_0(t)|| = 0$$

Let $\epsilon > 0$ be an arbitrarily chosen positive number. Choose the number $l_0 \ge l$ so that

$$K \rho C \int_{t_0}^{\infty} r(s, z) \ ds < \frac{\epsilon}{4} \qquad (z \in B_{\rho})$$
 (12)

and

$$\sum_{l_0 < t_j} m_j < \frac{\epsilon}{4K\rho C} \tag{13}$$

For $h^{-1}(t) \|Qy_0(t) - Qy_n(t)\|$ $(t_0 \le t \le l)$ we obtain the estimate

$$h^{-1}(t)\|Qy_{0}(t) - Qy_{n}(t)\|$$

$$\leq K \int_{t_{0}}^{t} h^{-1}(t)h(t)h^{-1}(s)\|F(s, y_{0}(s)) - F(s, y_{n}(s))\| ds$$

$$+ K \int_{t}^{\infty} h^{-1}(t)k^{-1}(t)k(s)\|F(s, y_{0}(s)) - F(s, y_{n}(s))\| ds$$

$$+ K \sum_{ij \leq t} h^{-1}(t)h(t)h^{-1}(t_{j})\|H_{j}(y_{0}(t_{j})) - H_{j}(y_{n}(t_{j}))\|$$

$$+ K \sum_{i \leq i_{j}} h^{-1}(t)k^{-1}(t)k(t_{j})\|H_{j}(y_{0}(t_{j})) - H_{j}(y_{n}(t_{j}))\|$$

$$\leq K \int_{t_{0}}^{t} h^{-1}(s)\|F(s, y_{0}(s)) - F(s, y_{n}(s))\| ds$$

$$+ K \int_{t_{0}}^{0} h^{-1}(t)k^{-1}(t)k(s)\|F(s, y_{0}(s)) - F(s, y_{n}(s))\| ds$$

$$+ K \int_{t_{0}}^{\infty} h^{-1}(t)k^{-1}(t)k(s)\|F(s, y_{0}(s)) - F(s, y_{n}(s))\| ds$$

$$+ K \sum_{i_{0} \leq i_{j} \leq i_{0}} h^{-1}(t)k^{-1}(t)k(t_{j})\|H_{j}(y_{0}(t_{j})) - H_{j}(y_{n}(t_{j}))\|$$

$$+ K \sum_{t_{0} \leq i_{j} \leq i_{0}} h^{-1}(t)k^{-1}(t)k(t_{j})\|H_{j}(y_{0}(t_{j})) - H_{j}(y_{n}(t_{j}))\|$$

$$+ K \sum_{t_{0} \leq i_{j} \leq i_{0}} h^{-1}(t)k^{-1}(t)k(t_{j})\|H_{j}(y_{0}(t_{j})) - H_{j}(y_{n}(t_{j}))\|$$

$$+ K \sum_{t_{0} \leq i_{j} \leq i_{0}} h^{-1}(t)k^{-1}(t)k(t_{j})\|H_{j}(y_{0}(t_{j})) - H_{j}(y_{n}(t_{j}))\|$$

$$+ K \sum_{t_{0} \leq i_{j} \leq i_{0}} h^{-1}(t)k^{-1}(t)k(t_{j})\|H_{j}(y_{0}(t_{j})) - H_{j}(y_{n}(t_{j}))\|$$

$$+ K \sum_{t_{0} \leq i_{j} \leq i_{0}} h^{-1}(t)k^{-1}(t)k(t_{j})\|H_{j}(y_{0}(t_{j})) - H_{j}(y_{n}(t_{j}))\|$$

$$+ K \sum_{t_{0} \leq i_{j} \leq i_{0}} h^{-1}(t)k^{-1}(t)k(t_{j})\|H_{j}(y_{0}(t_{j})) - H_{j}(y_{n}(t_{j}))\|$$

The first two integrals and the first two sums on the right-hand side of the last inequality tend to zero as $n \to \infty$ uniformly with respect to $t \in [t_0, l]$. The value of the third integral does not exceed

$$K \int_{l_0}^{\infty} h^{-1}(t)k^{-1}(t)k(s) \|F(s, y_0(s))\| ds$$

$$+ K \int_{l_0}^{\infty} h^{-1}(t)k^{-1}(t)k(s) \|F(s, y_n(s))\| ds$$

$$\leq K\rho C \int_{l_0}^{\infty} r(s, y_0(s)) ds + K\rho C \int_{l_0}^{\infty} r(s, y_n(s)) ds < \frac{\epsilon}{2}$$

For the third sum we obtain the estimate

$$\begin{split} K & \sum_{l_0 < t_j} h^{-1}(t) k^{-1}(t) k(t_j) \| H_j(y_0(t_j)) \| \\ & + K \sum_{l_0 < t_j} h^{-1}(t) k^{-1}(t) k(t_j) \| H_j(y_n(t_j)) \| \\ & \leq KC \rho \sum_{l_0 < t_j} m_j + KC \rho \sum_{l_0 < t_j} m_j < \frac{\epsilon}{2} \end{split}$$

Thus assertion (ii) is proved.

(iii) It suffices to prove the equicontinuity of the functions of $M\rho = QD_{\rho} (QD_{\rho} \subset D\rho)$ on each interval $(t_n, t_{n+1}) \subset (t_0, \infty)$ (for the first one instead of t_n we must take t_0). Let $s, t \in (t_n, t_{n+1})$ and let $s \le t \le s + \delta$. We shall prove that for sufficiently small values of $\delta > 0$ the following inequality is valid:

$$\|(Qy)(t) - (Qy)(s)\| < \epsilon \qquad (y \in D\rho) \tag{15}$$

From (8) for (Qy)(t) - (Qy)(s) we obtain the representation

$$(Qy)(t) - (Qy)(s)$$

$$= x(t) - x(s) + \int_{t_0}^{t} U(t)PU^{-1}(u)F(u, y(u)) du$$

$$- \int_{t}^{\infty} U(t)(I - P)U^{-1}(u)F(u, y(u)) du$$

$$- \int_{t_0}^{s} U(s)PU^{-1}(u)F(u, y(u)) du + \int_{t_0}^{\infty} U(s)(I - P)U^{-1}(u)F(u, y(u)) du$$

$$+ \sum_{t_0 \le t_j < t} U(t)PU^{-1}(t_j)H_j(y(t_j)) - \sum_{t \le t_j} U(t)(I - P)U^{-1}(t_j)H_j(y(t_j))$$

$$- \sum_{t_0 \le t_j < s} U(s)PU^{-1}(t_j)H_j(y(t_j))$$

$$+ \sum_{s \le t_j} U(s)(I - P)U^{-1}(t_j)H_j(y(t_j))$$

$$= x(t) - x(s) + \int_{t_0}^{s} (U(t) - U(s))PU^{-1}(u)F(u, y(u)) du$$

$$- \int_{s}^{\infty} (U(t) - U(s))(I - P)U^{-1}(u)F(u, y(u)) du$$

$$+ \int_{t}^{t} U(t)PU^{-1}(u)F(u, y(u)) du$$

$$+ \int_{s}^{t} U(t)(I - P)U^{-1}(u)F(u, y(u)) du$$

$$+ \sum_{t_0 \le t_j < s} (U(t) - U(s))PU^{-1}(t_j)H_j(y(t_j))$$

$$- \sum_{s \le t_j} (U(t) - U(s))(I - P)U^{-1}(t_j)H_j(y(t_j))$$

$$= x(t) - x(s) + \int_{t_0}^{s} (U(t)U^{-1}(s) - I)U(s)PU^{-1}(u)F(u, y(u)) du$$

$$- \int_{s}^{\infty} (U(t)U^{-1}(s) - I)U(s)(I - P)U^{-1}(u)F(u, y(u)) du$$

$$+ \int_{s}^{t} U(t)U^{-1}(u)F(u, y(u)) du$$

$$+ \sum_{t_0 \le t_j < s} (U(t)U^{-1}(s) - I)U(s)PU^{-1}(t_j)H_j(y(t_j))$$

$$- \sum_{s \le t_j} (U(t)U^{-1}(s) - I)U(s)(I - P)U^{-1}(t_j)H_j(y(t_j))$$
(16)

Choose δ so small that $||x(t) - x(s)|| < \epsilon/6$ and $||I - U(t)U^{-1}(s)|| < \min\{a, b, c, d\}$, where

$$a = \frac{\epsilon}{6} \frac{1}{K\rho h(s)m(\rho, t_0)}$$
$$b = \frac{\epsilon}{6} \frac{k(s)}{K\rho C_1 m(\rho, t_0)}$$

$$c = \frac{\epsilon}{6} \frac{1}{K\rho Ch(s)M}$$
$$d = \frac{\epsilon}{6} \frac{k(s)}{K\rho C_1 M}$$

Then

$$\begin{aligned} \|Qy(t) - Qy(s)\| \\ &< \frac{\epsilon}{6} + aK \int_{t_0}^{s} h(s)h^{-1}(u)h(u)r(u, y(u))\|y(u)\|h^{-1}(u) du \\ &+ bK \int_{s}^{\infty} k^{-1}(s)k(u)h(u)r(u, y(u))\|y(u)\|h^{-1}(u) du \\ &+ \int_{s}^{t} \|U(t)U^{-1}(u)\|r(u, y(u))\|y(u)\| du \\ &+ cK \sum_{t_0 \le t_j < s} h(s)h^{-1}(t_j)m_j\|y(t_j)\| \\ &+ dK \sum_{s \le t_j} k^{-1}(s)k(t_j)m_j\|y(t_j)\| \end{aligned}$$

Choose δ so small that the following inequality should hold, too:

$$\rho \int_{\epsilon}^{t} \|U(t)U^{-1}(u)\|h(u)r(u,y(u)) du < \frac{\epsilon}{6}$$

Then

$$\|Qy(t) - Qy(s)\|$$

$$< \frac{\epsilon}{6} + aK\rho h(s) \int_{t_0}^{s} r(u, y(u)) du + bK\rho k^{-1}(s)$$

$$\times \int_{s}^{\infty} k(u)h(u)r(u, y(u)) du + \frac{\epsilon}{6} + cK\rho h(s) \sum_{t_0 \le t_j < s} m_j$$

$$+ dK\rho k^{-1}(s) \sum_{s \le t_j} k(t_j)h(t_j)m_j$$

$$\leq \frac{\epsilon}{6} + aK\rho h(s)m(\rho, t_0) + bK\rho k^{-1}(s)C_1m(\rho, t_0)$$

$$+\frac{\epsilon}{6}+cK\rho h(s)M+dK\rho k^{-1}(s)C_1M=\epsilon$$

From condition 7 of Lemma 1 there follows the compactness in X of the sets

$$H_t = \{(Qz)(t): z \in D\rho\} \qquad (t \ge t_0) \quad \blacksquare$$

Remark 1. For dim $X < \infty$ the assertion of Lemma 1 is still valid without condition 7.

Theorem 1. Let the conditions of Lemma 1 hold, where the function x is a solution of the linear impulsive equation (3), (4).

Then the fixed point $y(\cdot)$ of the operator Q is a solution of the nonlinear equation (1), (2).

Proof. Taking into account that x is a solution of (3), (4) and the equality

$$W_1(t, t) + W_2(t, t) = I$$

where $W_1(t, s) = U(t)PU^{-1}(s)$ and $W_2(t, s) = U(t)(I - P)U^{-1}(s)$, for $t \notin \{t_n\}$ we obtain

$$y'(t) = (Qy)'(t)$$

$$= x'(t) + W_1(t, t)F(t, y(t))$$

$$+ A(t) \int_{t_0}^{t} W_1(t, s)F(s, y(s)) ds + W_2(t, t)F(t, y(t))$$

$$- A(t) \int_{t}^{\infty} W_2(t, s)F(s, y(s)) ds + A(t) \sum_{t_0 \le t_j < t} W_1(t, t_j)H_j(y(t_j))$$

$$- A(t) \sum_{t < t_j < \infty} W_2(t, t_j)H_j(y(t_j))$$

$$= A(t)y(t) + F(t, y(t))$$
Let $t = t_n$. Then
$$y(t_n^+) = (Qy)(t_n^+)$$

$$= Q_n x(t_n) + \int_{t_0}^{t_n} Q_n W_1(t_n, s)F(s, y(s)) ds$$

$$- \int_{t_n}^{\infty} Q_n W_2(t_n, s)F(s, y(s)) ds + \sum_{t_0 \le t_j \le t_n} Q_n W_1(t_n, t_j)H_j(y(t_j))$$

$$-\sum_{j=n+1}^{\infty} Q_n W_2(t_n, t_j) H_j(y(t_j))$$

$$= Q_n [y(t_n) + W_1(t_n, t_n) H_n(y(t_n))]$$

$$+ W_2(t_n, t_n) H_n(y(t_n))]$$

$$= Q_n y(t_n) + Q_n H_n(y(t_n))$$

$$= Q_n y(t_n) + R_n(y(t_n)) \quad \blacksquare$$

Theorem 2. Let the conditions of Lemma 1 hold.

Then for any solution $y \in D_{\sigma}$ of the nonlinear impulsive equation (1), (2) there exists a solution $x \in D_{\rho}$ of (3), (4).

Proof. Consider the function

$$x(t) = y(t) - \int_{t_0}^{t} U(t)PU^{-1}(s)F(s, y(s)) ds$$

$$+ \int_{t}^{\infty} U(t)(I - P)U^{-1}(s)F(s, y(s)) ds$$

$$- \sum_{t_0 < t_j < t} U(t)PU^{-1}(t_j)H_j(y(t_j))$$

$$+ \sum_{t \le t_i} U(t)(I - P)U^{-1}(t_j)H_j(y(t_j))$$
(17)

It is not hard to check that the function x(t) is correctly defined and satisfies equation (3), (4).

Theorem 3. Let the following conditions hold:

- 1. The conditions of Lemma 1 are met.
- 2. The following condition holds:

$$\int_{t_0}^{t} h(t)h^{-1}(s) \sup_{\|x\| \le \rho} r(s, h(s)) ds$$

$$+ \int_{t}^{\infty} k^{-1}(s)k(t) \sup_{\|x\| \le \rho} r(s, h(s)) ds$$

$$+ \sum_{t_i \le t} h(t)h^{-1}(t_i)m_i + \sum_{t \le t_i} k^{-1}(t_i)k(t)m_i \to 0 \qquad (t \to \infty)$$

3. $KC \lim_{t_0 \to \infty} \sup_{\rho > 0} m(\rho, t_0) + KCM < 1$.

Then equations (1), (2) and (3), (4) are asymptotically equivalent, i.e., for any bounded solution $y(\cdot)$ of (1), (2) there exists a bounded solution $x(\cdot)$ of (3), (4) and, conversely, for any bounded solution $x(\cdot)$ of (3), (4) there exists a bounded solution $y(\cdot)$ of (1), (2) such that

$$\lim_{t\to\infty} (x(t) - y(t)) = 0$$

REFERENCES

- Bainov, D. D., Kostadinov, S. I., and Myshkis, A. D. (1988a). Bounded and periodic solutions of differential equations with impulse effect in a Banach space, *Differential and Integral Equations*, 1(2), 223-230.
- Bainov, D. D., Kostadinov, S. I., and Zabreiko, P. P. (1988b). L_{ρ} -Equivalence of impulsive equations, *International Journal of Theoretical Physics*, 27(11), 1411-1424.
- Bainov, D. D., Zabreiko, P. P., and Kostadinov, S. I. (1988c). Stability of the general exponent of nonlinear impulsive differential equations in a Banach space, *International Journal of Theoretical Physics*, 27(3), 373-380.
- Bainov, D. D., Kostadinov, S. I., Thái, Nguyêñ Hông, and Zabreiko, P. P. (1989a). Existence of integral manifolds for impulsive differential equations in a Banach space, *International Journal of Theoretical Physics*, 28(7), 815–833.
- Bainov, D. D., Kostadinov, S. I., and Zabreiko, P. P. (1989b). Existence of L_p -solutions of linear equations with impulse effect, *Boletim Sociedade Paranaense de Matematica*, 10, 19–30.
- Bainov, D. D., Kostadinov, S. I., and Zabreiko, P. P. (1989c). Exponential dichotomy of linear impulsive differential equations in a Banach space, *International Journal of Theoretical Physics*, 28(7), 797-814.
- Bainov, D. D., Kostadinov, S. I., and Myshkis, A. D. (1990a). Properties of the L_{φ} -solutions of linear impulsive equations in a Banach space, *International Journal of Theoretical Physics*, **29**(6), 677–685.
- Bainov, D. D., Kostadinov, S. I., and Myshkis, A. D. (1990b). Asymptotic equivalence of impulsive differential equations in a Banach space, *Publications Mathématiques*, 34, 249-257.
- Bainov, D. D., Kostadinov, S. I., and Zabreiko, P. P. (1991). Existence of solutions of nonlinear impulsive differential equations with exponentially dichotomous or dichotomous linear part, *International Journal of Theoretical Physics*, 30(10), 1545-1554.
- Coppel, W. A. (1978). Dichotomies in Stability Theory, Springer-Verlag, Berlin.
- Muldowney, J. S. (1984). Dichotomies and asymptotic behaviour for linear differential systems, Transaction of the American Mathematical Society, 283(2), 465-484.
- Naulin, R., and Pinto, M. (n.d.). Dichotomies and asymptotic solutions of nonlinear differential systems, to appear.
- Zabreiko, P. P., Bainov, D. D., and Kostadinov, S. I. (1988). Characteristic exponents of impulsive differential equations in a Banach space, *International Journal of Theoretical Physics*, 27(6), 731-743.